
-2 (2016) 

 20,00 C 
 50,00 % 

d [m] Lambda [W/mK] Mi [-] 
1 0,015  0,700 6,0 
2 0,300  0,220 9,0 
3 0,030  0,151 10,0 

)

,N = Tsi,80 + dTsi = 12,63+0,50 = 13,13 C 
 15,86 C 

 Pozn.: Povrch. teplo

.1)

r1 = 4,40 m2K/W 
1,58 m2K/W 

 R < Rr1

r1 = 0,22 W/m2K 
0,57 W/m2K 

 U > Ur1

)
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     Tai =   20,00 C 
  50,00 % 
  

  
  

   d [m]  Lambda [W/mK]  Mi [-] 
   1   0,015       0,700  6,0 
   2   0,300       0,280  9,0 
   3   0,030       0,151  10,0 
 
  
  

   
   12,63+0,50 = 13,13 C 
   15,10 C 
  T  
  

   
   
 
  
  

  r1 =   4,40 m2K/W 
   1,29 m2K/W 
  R < Rr1  
  

  r1 =   0,22 W/m2K 
   0,68 W/m2K 
  U > Ur1  
 
  
  

     
    
    
  

    V kci ned  
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  20,00 C 
  50,00 % 
  

  
  

   d [m]  Lambda [W/mK]  Mi [-] 
   1   0,015       0,700  6,0 
   2   0,375       0,200  9,0 
   3   0,030       0,151  10,0 
 
 ) 
  

   
  ,N = Tsi,80 + dTsi =   12,63+0,50 = 13,13 C 
   16,75 C 
   
  

   
   
 
 .1) 
  

  r1 =   4,40 m2K/W 
   2,10 m2K/W 
  R < Rr1 NIE  
  

      : Ur1 =   0,22 W/m2K 
   0,44 W/m2K 
  U > Ur1 ... P  NIE  
 
 .1) 
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 ukcie                   :     
 
  
  

  20,00 C 
  50,00 % 
  

  
  

   d [m]  Lambda [W/mK]  Mi [-] 
   1   0,015       0,700  6,0 
   2   0,375       0,340  9,0 
   3   0,030       0,151  10,0 
 
  
  

    
   12,63+0,50 = 13,13 C 
   15,20 C 
   
  

   
   
 
  
  

  r1 =   4,40 m2K/W 
   1,32 m2K/W 
  R < Rr1  
  

  r1 =   0,22 W/m2K 
   0,67 W/m2K 
  U > Ur1  
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 20,00 C 
hu Fii =   50,00 % 

d [m] Lambda [W/mK] Mi [-] 
1 0,015  0,700 6,0 
2 0,300  0,220 9,0 
3 lepidlo  0,005  0,700 25,0 
4  Isover  tf prof 0,120  0,036 2,5 
5 0,030  0,151 10,0 

)

,N = Tsi,80 + dTsi = 12,63+0,50 = 13,13 C 
 18,51 C 

.1)
davka        : Rr1 =   4,40 m2K/W 

4,92 m2K/W 
 R > Rr1

r1 =   0,22 W/m2K 
0,20 W/m2K 

 U < Ur1

I .1)

kg/m2,rok.
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 20,00 C 
 50,00 % 

d [m] Lambda [W/mK] Mi [-] 
1 0,015  0,700 6,0 
2 0,300  0,280 9,0 
3 lepidlo  0,005  0,700 25,0 
4 0,120  0,036 2,5 
5 0,030  0,151 10,0 

12,63+0,50 = 13,13 C 
 18,43 C 

 Pozn.: P

r1 =   4,40 m2K/W 
4,63 m2K/W 

 R > Rr1

r1 =   0,22 W/m2K 
0,21 W/m2K 

 U < Ur1
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zduchu      Tai =   20,00 C 
 50,00 % 

d [m] Lambda [W/mK] Mi [-] 
1 0,015  0,700 6,0 
2 0,375  0,200 9,0 
3 lepidlo  0,005  0,700 25,0 
4 0,120  0,036 2,5 
5 0,030  0,151 10,0 

)

,N = Tsi,80 + dTsi = 12,63+0,50 = 13,13 C 
 18,65 C 

a.

.1)

r1 =   4,40 m2K/W 
5,44 m2K/W 

 R > Rr1

r1 =   0,22 W/m2K 
a: U  =   0,18 W/m2K 

 U < Ur1

.1)

Ma,vysl=0).

ej pary Gv = 6,7638 kg/m2,rok 
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Za ariant 4  keramick

 20,00 C 
 50,00 % 

d [m] Lambda [W/mK] Mi [-] 
1 0,015  0,700 6,0 
2 0,375  0,340 9,0 
3 lepidlo  0,005  0,700 25,0 
4 0,120  0,036 2,5 
5 0,030  0,151 10,0 

4.3)

,N = Tsi,80 + dTsi = 12,63+0,50 = 13,13 C 
 18,44 C 

.1)

r1 =   4,40 m2K/W 
4,66 m2K/W 

 R > Rr1

r1 =   0,22 W/m2K 
0,21 W/m2K 

 U < Ur1

.1)

jektant. 
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